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Instructions: Pt you ndhPar the ‘er of the page in the blank provided. Show all of
your work clearly and box yowr final answer. You may use the back of the page to show
extra work, as long as you label it clearly. Show all work at all times. Word problems
need to show setup, equations using algebra and be solved using algebra (don 't forget
units). You may not use a calculator. Good luck!

or the equation: -3+ 3y = 4x

» Put the equation in slope—mtercept_fznn. Remember that is sghoe for one of the variables.
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On the line provided, give the slope. m=

Indicate how you arrived at this answer here.

On the line provided, give the y-intercept as an ordered pair.

On the line provided, give the x-intercept as an ordered pair,
Show the work in getting the x-intercept in the space provided.
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//e‘:) Y, On the line provided, give a third, integer, ordered pair solution. __ | ‘_Eh} .

4] . Show the work in obtaining this solution in the space provided. It may not be done using | .L'V‘\'C“f‘ /s
the graph, substitution and solving of an equation must be used. !
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Work t|

ﬂ\ Using 3 points, graph the line on the coordinate system below. Don’t
.+3 .’Z. jj.- forget to label ypur 3 points, put arrows on the line and label the hine.
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) 2, - Which pfthe following is a vertical line? (Circle the best answer. Circle only one.)
\"_H a) x=5 b)  y =3x ¢) 2x=3y-5 d 5y =9
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3. Which ordered pair lies on the horizontal line 2y = *h7?
(Clrcle the best answer, Circle only one.)

‘T\ a9 e oo @) o (s2) ) 9.2

4. Whlch is the slope of a vertical lme'? {Circle the best answer. Circie only one.)

T \ a) Noslope by  Zero 'c)  Undefined - d)  Null Set
_ 6. Lines which are parallel have slope(s). (Circle
~ \ the best answer to fill in the blank_Circle only one ) B _
a) different b) negative reciprocal S e) the same

7. Which line is perpendicular to the line 2x — 3y = 97

(Circle the best answer. Circle only one.) . » . \,Ucrt*\}
' a)  3x -2y =9 2y rt*‘)a?’é“‘.-/;- b) y = x
)‘c)'” y= Yx - 45 | d  y=Tx+1
e e T e gmry L _,,__.J
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8. Which is the equation of a line with zero slope? A
(Circle the best answer. Circle only one.) e LT

‘_,_Jr\ x =3 b) vy =3x ¢ 2x=3y-5 @ sy =9

9. Forg(x)—x _x_lf%h\h’r# *tb*\ <
Y W .‘;{ ‘-/1...
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10. State whether the following is or is not a function (state reasons).

a‘ (02,5, 2.3, )} by 2 Nig
%2 v Ves Al x's o Amine o Dy

11.  Guve the equation of the line passing through the points (1,-3) and (-4, 7).

I:Llﬂ«gﬁdlt will not be given unless you use the point-slope form, and show all work as outl med below.

-L}_‘L

\ Show your work for finding the slope.

TZ/ ; LJ L
- / Pluggmg mto the point-slope form -
L)ZQ; Subshiwdes Wt V%

~— @: Give the Tinal equation in slope-intercept formy
fin .

Y. Butterwosth f Math 11a Falio9



12.  Solve the linear mcqualltles in 1 vanable and graph them ona number fme lee
each solution set in interval notation. ' } <, ¢y Tigis

ay™ 4(x+2)-—8>15—3(x-2) /bj\ -1<-3x+5§11
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13.  Inthe followmg problem you are goingto giap fﬁéﬁr‘equﬁtlon give the ,__.2 2)
equation of a line that is shown on a graph and give the solution to the system

created by the pre-graphed line and the line that you graph. Ay *

1‘ \"‘IU L1s * \\.1:“‘-'

a) On the line provided, give the equation for the line shown in the graph Covre ¥
below. Show your work in arriving at that equation. Ly oL U
R
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Circle the correct answer in standar d Il(}tatl{)ll [the answers follow cach part as i), ii), etc.]:

7\ 1.02 x 107 i) -10200  { i) 00001021 i) 0.0000102 iv) 10200
U

-125 x 108 i) -0.00000125 i) -0000000125 111) 1250000 v} -125,000,000

Write in correct scientific notation:

2 g @ 9.250,000 .+
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16.  Multiply using exponents rules & write in correct scientific notation. Do not

5 multiply in standard torm . Y A o
(1.2 x 10")(9 x 10%) B S S
< 2_ \""‘-Y"—:-—M e T
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P / 17.  Find the quotient and write your answer using correct scientific @tatlon = i > * .I o
: . ) (25 2 X 10-“} _ L ‘}(\ ‘a {"\ s - i{i ‘ o '"“:I: Sk i
: _ (2.1x10% S VT )
a) 1:2;4102 by 12x10° ¢) 12x10° ) 1.2x10° N
T - /ZI ‘\ o e f‘)\(.if_.;; :/ \.n. \5-
18. Solve the linear inequality in two variables. Show your work for a checkpoint ) 1y
above and below the boundary line. Do show 2 points labeled that you used to
. graph the boundary line.
9 + 3y > 4x I
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] 1. Multiply. (x — 1)4x" - 2x - 1) 77\ v&
T . )ﬁ.
YL a) 4’ -6 —x + 1 b) 4>+ 2+ x+ 1
R e T i
¢) A4 —2xF +x+ 1 ) 4 -6t x+ 1
i ) e __;7;-‘ s e ipom e . 1
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- 20.  Divide. Be Cafeful 12Xy - 16x vt o+ 20xy) + (-4xy) o o
- T : C
e T \ Sty B -
}_a) 4x* y + 3x%y? 5 Lo k b) 4x4y + 3x“y - 20xy
e P T e V4 - /—kc-)-"ee gy LAYl
_ c) —4x4y3 - 3)423(2 + 5 d) -4xsy5 + 3x'yt - 5){‘-"y2 i
T
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21.  Divide. 22 — 332"+ 8+ 6 J

2a + 1 “.

. e aem e R, i . {'1}
ja) a’ - 2a+ 5 + S b) a - 2a% 6
’ s 22 1} >
c) at —a+ 5+ 1 d} a’ —a+ 6
2a + 1
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22 Simplify each of the following using exponent rules. Do not leave any negative

gxponents or numbers raised to powers.
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